™)

| = —A =) A= -l
\Jl\{np:"%_
| = 3¢ = R=2

MEL Core 4 TJTuNE 20071 ®
pF = 2 £=0 3 P=] | = 2 - |
2 — st P(2p-1) 2P~ P
MHax P = 2 - 2 ;_')v
2 - | dP = (leost b
2P =P 2
M\n P - 2 - _Z___
2-C1) 3 JL - 1\dP - (;wsfae
20~ S 2
P = 2 "rhCZP—|)—|nP = _ZLS"n‘- + ¢
2 - St
l\('ZP—l) = 7‘:5}-.(* +e
AP - (2-6mt)0-2(-est) P
dt (2-50—)6)1
P:‘, whea & 70 5o
dP  _ 2 cost
Av (2 —smt)? lm(_l_) = L0 +c
, 2
0_(_f = L. 4 cos &
At 2_)1(2-5.-&)1 = O +¢ =) ¢=0
A0 ] P east lh<zf>—' = Lt
Ae T2 p
N N W 2 AP 1) - ,
B Z _e"isiat
L J—(ZPI'F)(_osk
dt 2 Min P = |
Pzl Net=0 2 _e-o-f
Let | EA + B = 0.8 ey 3dp
P(zr-1) P 26-1
EH“KP = |
> | = Aze-) + 6P | 2 —e°"
Vhew P =0 = 2.84-7 to 3(1'.()




N

@

MET cokes TunE 20077
X = 10 sos® + § ¢cos 26 2 100 cos’ 1 100 cosB o528 ¢ 2§ 020
\3 = IOSI'-\@‘ + S s 26

(Oe6com)|+ 100 530 + 100 5in8 S8 + 20 g1t 20-

f‘__’ﬁ - 10cos@ + (Oces?2® = IDO(wsléffSn:‘&) -/—Zg(ws"zo +5|-.\23)
AG
d2 _ =0 S = 105m28 + )Oo(coshusz&-J(Sun&Lsmw)
A

Ay = 100 + 25 4+ 100 ¢os( 25 -&)

dy _ y - 10cosB +10c0528

‘j,. 0% = 10gmls =10 420 = |2T 4 100 cot -
f’j S 4_0‘519 4—z.a§ZG 3t _ 5> 2
Ax Sinll + ¢in26 (bu_s{"lu-ut ‘(f‘vm O) I 4"‘3
whew (9 =17 Max b.’s& = 12§ 4100 T 225
i .
A/lj - co&% +4032§ Nax Dishnee T 1€ m
A B S"‘:ﬂ-l- 4 Sv\%'
Min BI&‘tJ r eV =100 & 28
_ —-( t o+ -3
\ ,{} 4+ 43 M- B'S"R-\LC = S m
_ 2 -
- @) Z’w)
T
2 cos & 4+ 2¢8 - = O
At I3r/ ﬂlu_] -0
Aot by calcvlatos cos® = 0.36L0254
s = - Ilo2sa
~ = 10 cos% + 5&01;{
. Now 34} Lt 127 4 100 ¢y @
%~ = D %Az +§('Ji) S;Z and ot G) % =0
y = 10 S B+ 5T : .3‘ = 12§ 4100 x 0.3660254-
y = io,«J; + 5;&43 = 1543 =) 3‘ = Ibl.to25a
2
= 4 = 2.2
A Pouﬂk ( -'- )
SCO0R = 127w B 35.£

\") " . 12

T oty = "
2 2
(IOLoSL‘ + S’wSW) ""()051-\9'4— S’sm)ﬁ)




